gboogn 2011000000000000

d42011000000000000p>

A0 0O0

n al000 0<ae<1000000000O00 10000000 y=%|] 200 y=zx,y=ax 0

oooooo Ple)oooo S(le) D0DDO0OOOODOOOOO

(1) S(a)o enOOOODO

(2) %%é)gsw)§%x%>+1DDDaDDDDDDDD

(3 PM)DxDDDDDDDDDDDDDDDDDDDV@)DH%V@)DDDDD
o

1 1 b 1 11
g 00000000 200000 A= , B= , P= ooooooo

-1 3 0 b D q
o0ooooo
(1) nOOOOOODOOODOOB*OOOOO

(2) AP=PBOODOOOOOOOb, p,gOOOODODOO
(3) mnOOooOOOOOOOOOA"OODODO

Ea p,qUO0OD0000 p>qU000z>00000020000 f(x) =ePr+e ?* g(x) =e9*+e 9 0
dooooooooooog
(1) fx)>20000
(2) fx)>g(x)oooo

flx)—g'(x)

= >

3) h(x) ﬂ@)_ﬂr)mmmmmuhu)ux (000000o0OoOoOoOoOoooooon
N,a b00D00000000000000 ¢00000 bOODOD0OODOOOOOOOOO 10000
00000000000000000000000000000000 200000000000000000
D2N+2DDDDDDDDDDnDDDDDDDDDDDDPOQDDDpzaﬁb,qzaﬁh,rzpq

0000000000000
(1) P2j), P2j+1)(j=1,2,,N)ooo P2N+2) 00000000

N . — 4N
@ (-n%jrit=4="-Nr¥oooo
P2

2N+2 247
(3) DooooOoOoooO m= Z7ﬁm@DDDDan<T:7DDDDDDDDD
n=2

(4) DoooomOOoOOOm<30000
Q[]D[]D

‘] 00000000000 O0000O0DOD 1ooo coooo P(p, @0 pP+¢*>100000
oooooPoo Coooooooooooo T(s,t)0oooPoooono TOOOOOo DooooDO
0 A(e,0)J00000000O0O0O0O0OOOOO

(1) (a—pl=p*—1000000000

(2) 0<a<lOoOO p>1000000000e0 pOOOODOOO

©ooooo0000onoodmakoto



20ll000000000000 goooo

Q 00000000030 A,B, Co0n¢tonooooonnon (40,2, (V2t, 1—2t, v2(1—1)),
(—t, —v2t,¢t) 0000000 ODDDDDDDDDDDDDDDDDDDO<I<%DD[ID
(1) OA10C, OBLOCOOOD

(2) AOABooo SHot(1—2H)oo0oooooon

(3) ooo OABCooo V() O O<t<%DDDDDDDDDDDD

B s, t000ooooooooodo A(—1,0), B(1,0),P(0,1), Q(s, tH) 00DDODD0ODOODOOOOO
(1) oo

2
1_}_324_[22M
JAH P HE2 T
0oo0000o0ooooo
(2) ooo

PA+PB=QA+QB

goooocoooogo

N,e, b00OO000000O0O0O0O0OO0O00 @« 00000 bO0OO0O0O00O00OO0O0O0OOO 10000

00000000000000000000000000000000 200000000000000000
_ _a _ b _

0D 2N+200000000007000000000000 P 000p=_45,9=—7p.7=04

0000000000000

(1) P2j), P2j+1)(j=1,2,--, N)ooo P2N+2)0»0000000C

1—2r
1—r

N+1
(2) DoOooDODOOOOO0OO0D Q= 2 P2j))ooo0ooR> Ooooooooo
7j=1

- |DDDDDDDD| ~

OO0
¥ (IIDoooooo
B g (CJoo
B % (ODoooooo
k& (AJoo

OO0
W% (IDoooooo
B ¥ (Bloooooooo
B8 &8 (IDoooooo

[$%| (AJoO
_ J

© 0000000000 oDodmakoto



g

2011000000000000

S$0000

(D
©))
3

(D

(2
3

(D
©))
©))
(D
(2
3
€))

S(a) = —%loga
1 1
Fa)

Via) =

cofn A

e
7(l1—Ja), lirrolV(a) = %7[

01
b=000n=10000B"=
00

pr
0bx00000MMb=000 niZDDDDDB"=< 0
b=2 p=1, g=2

A — o 2—n n
B --n 2+n

goood
goood
goood

nbnfl
. )

PQ2j)=r"1(1—=2r), PQ2j+1)=7/, PN +2)=7rV

goobod
goood
goood

S$0000

(D
©))
(D
©))
©))
(D
©))
(D
(2

ooooo

ooooOdga=p—Jp?—1

goood

goooo

2
81
ooooo

ooooo

PQ2j)=r"11—=2r), PQj+1)=17r/, P@QN+2)=17r"

goood

©oooooD0o0oo0oooomakoto



